@ x(x-6) @ (x+2)(x-6)
@ (x-4)(x+2) ® x(x-4)

x-2=1% 2|&stdA
2-2t-8=(t+2)(t-4) = x(x-6)
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x2 —y? +8x 4+ 4y + 12

O (x+y+3)(x—-y+4)
@ (x+y+2)(x+y+6)
@ +y+2(x-y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

22+ 8x—(y? —4y-12)
=x2+8x—(y+2)(y-6)
= (x+y+2)(x-y+6)
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@ 3 @ 6 @9 @ 12 ® 15

1 V2-1 5
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YT Veo1 T (VE-n(V2+)

x% 4 3xy +y2 = (x + )% + xy ol Al
x+y=(V2-1)+(V2+1)=2+2
w=(V2-1)(V2+1) =1

L(EAD) = (Y2 +xy=(2V2)2+1=9
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0<x<l, —2<y<-19 ), ohg AL 7heks] 5he?

V)2 4+ (x+y)2 —dxy - /(x -y

)2+ 4xy

@ —xy @Zx—xy
@ 2y —xy ® x—xy

® 2x+xy

B

Vx+ )2 —dxy = /x2 - 2xy +y?
= V(x-y)?
V(x—y)2+4xy = /x% + 2xy +y?
= /(x+y?eolBg
(EA) = ol +x -y - lx + I
=-xyt+tx—-y+x+y
=2x—xy
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@ 6cm @ 25cm @ 50 cm

@ 100 cm ® 150cm

4x —4y =24°|E2 x—y=6

x2—y? = 15001 B& (x +y)(x-y) = 150
x+y=25

< 4x + 4y = 100




